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= 607,000
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= 6,000
01 = LH o4 1l 6,000 6,000 0
Og=sg 2 6,000
= 6,000
gdolls 2 32,000 17,640 14,360
S 9,600
Al 22,400
206 M= Hl 32,000 17,640 14,360
< 9,600
Al 22,400
01 =8l 32,000 17,640 14,360
OH Holls =58 =272 (3,300ha, 23,
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Al 22,400
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= 316,500
Al 63,300
02 LA TEALEZ(0IETHR) 379,800 0 379,800
Ol 3z §& &I WA 379,800
= 316,500
Al 63,300
DNEE 4 s2AY 50,000 100,000 A 50,000
307 21201 A 50,000 100,000 A 50,000
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OJtoFES & Z1dl XI&  100,000,000& = 50% 50,000
ol AHEXN SE28 &4 842 M NE 7,500 10,000 A 2,500
307 21201 A 7,500 10,000 A 2,500
02 It S AIHE L 7,500 10,000 A 2,500
ozdiy 228 4Z WA 7,500
2E0 MasS s AsHaE) XA 13,500 0 13,500
402 RI2EA=20l A 13,500 0 13,500
01 2I2EH 2 A B (KR ) 13,500 0 13,500
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307 glz2tol & 6,000 0 6,000
02 QAHFHANGEEX 6,000 0 6,000
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o# 2 ANE 3,000
EM0 =HCHALY 22,000 0 22,000
< 6,600
Al 15,400
402 RI2EA=20| M 22,000 0 22,000
< 6,600
Al 15,400
02 It EALEZ (01X S) 22,000 0 22,000
o= &1 HES* ¥ EUMHE 72 N2 22,000
< 6,600
Al 15,400
sJIH NE 2 2el 712,062 2,419,014 A 1,706,952
= 10,000
< 160,734
Al 541,328
SJIH 2el 2,100 2,100 0
202 044l 2,100 2,100 0
01 = LH o4 1l 2,100 2,100 0
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01 M= dl 6,000 6,000 0
Os21H =3l+el 257 (1605) 5,000
OsJIH =3+2lusg 2248437 7¢
200,000 = S5AE 1,000
301 eetE = 2,000 2,000 0
09 AL HIEA S 2,000 2,000 0
O8Yd - & sJ)HAuE 44 24= S
100,000¥ * 5 * 43 2,000
SI1 AL 202,028 217,614 A 15,586
101 1248l 65,288 143,914 AT8,626
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201 YEr2 Y| 105,740 63,700 42,040
01 At2 22l bl 56,340 30,700 25,640
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SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
02 QA2 AMAEE(0IATHE) 387,000 320,000 67,000
OX=d 28 sIAH NIAMY 387,000
< 116,000
Al 271,000
SIHSE W= 4,200 16,600 12,400
2 2,000
Al 2,200
206 =8l 4,200 12,200 28,000
= 2,000
Al 2,200
01 M= Hl 4,200 12,200 28,000
OsJIIAH ¢dus = 4,200
2 2,000
Al 2,200
sIHEgE XN& 10,734 0 10,734
= 3,234
Al 7,500
307 212t0l & 10,734 0 10,734
= 3,234
Al 7,500
02 (I BAAMHEE 10,734 0 10,734
OsJIAEE sIHARYE 282 & 10,734
= 3,234
Al 7,500
nEg sIH X 17,000 0 17,000
= 17,000
101 @124 8] 17,000 0 17,000
= 17,000
04 DIt 22 XS+ 17,000 0 17,000
ORF(YU)E2ESs =sIIH 22 22yl 17,000
< 17,000
S Fye Zal 7,880,211 7,862,291 17,920
= 1,449,121
X 90,000
Jl 536,764
S 1,042,859
Al 4,761,467
s AMFIIE =8 25 3,691,283 3,683,113 8,170
= 97,180
Jl 316,220
= 562,153
Al 2,715,730
tEER EdHE X 72,000 274,680 202,680
Jl 36,000
= 10,800
Al 25,200
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
402 SI2FXHE0| M 72,000 274,680 A 202,680
J| 36,000
& 10,800
Al 25,200
02 CIZEXIE A EX (0| XM THL) 72,000 274,680 A 202,680
OJ=EeL Edd|lat AIEAH X (HEAL) 72,000
J| 36,000
= 10,800
Al 25,200
MY H&X X & 266,000 274,700 A8,700
J| 76,000
= 57,000
Al 133,000
402 SI2F X0l & 266,000 274,700 A8,700
J| 76,000
& 57,000
Al 133,000
02 QX2 A E X (0| & THS) 266,000 274,700 A8,700
OMHHIH&EX XS 266,000
J| 76,000
= 57,000
Al 133,000
HH| M &R B AFY 16,520 0 16,520
Jl 4,720
= 3,540
Al 8,260
402 SI2vXHE0| ™ 16,520 0 16,520
J| 4,720
o= 3,540
Al 8,260
02 QIZEXIEAIS E X (0| XM THL) 16,520 0 16,520
OWHYIHEX HES ALY 16,520
J| 4,720
& 3,540
Al 8,260
223 HES ALY 175,000 0 175,000
J| 100,000
= 22,500
Al 52,500
402 SI2vXHE0| & 175,000 0 175,000
J| 100,000
= 22,500
Al 52,500
02 BIZtXIEANYEX(0OIETH) 175,000 0 175,000
OBs XS MHES 175,000
J| 100,000
= 22,500
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ool JbE ASIIE X8 2E (e9: & 9)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 52,500
N=EEL HUIAHEH X 102,500 276,000 A 173,500
J| 50,000
< 15,000
Al 37,500
202 O4dl 2,500 2,000 500
01 = LH 4 di 2,500 2,000 500
OsM2EXMeANE A= 82 0l 2,500
307 glz2+ol & 100,000 274,000 A 174,000
J| 50,000
< 15,000
Al 35,000
02 HAFAANHFEX 100,000 274,000 A 174,000
QY& ZHl X3 A 100,000
J| 50,000
< 15,000
Al 35,000
dHHFS 243 ALY 160,000 0 160,000
< 48,000
Al 112,000
402 RI2HXt20l 160,000 0 160,000
< 48,000
Al 112,000
02 QI 2 A EZ (O THE) 160,000 0 160,000
OdHl=S&4dst 160,000
< 48,000
Al 112,000
SSNHEAE dFHHM2ZH 2 X 96,000 80,000 16,000
206 M= Hl 96,000 80,000 16,000
01 =4l 96,000 80,000 16,000
OZsNHASAIE AdHMZH 2L
4,000 * 24,000kg 96,000
s Ad2edl N 60,000 90,000 /30,000
< 15,000
Al 45,000
402 2I2H X201 M 60,000 90,000 230,000
< 15,000
Al 45,000
02 QI EALEZ (01X THS) 60,000 90,000 A 30,000
Otk A4 =edl XA 60,000
< 15,000
Al 45,000
X Xs AL X 37,500 37,500 0
402 RIZEX201 A 37,500 37,500 0




SA sEA4D
=4

a4 B L
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01 2IZEH 2 A B (KR ) 37,500 37,500 0
OHA Xs WHAIAHE X N2 37,500
SEE 2 AdFMHZH KA 82,500 75,000 7,500
307 glz2tol & 82,500 75,000 7,500
02 HAHFHAANGFEX 82,500 75,000 7,500
OXEE 2 AdHMZTHM XNE 82,500
&= FYH 23 N 192,000 120,000 72,000
402 RI2HXt20l ™ 192,000 120,000 72,000
01 212t 2 AL E = (KM ) 192,000 120,000 72,000
OMs™8 2EuWA X3 A 192,000
NSt 25 2N 48,000 36,000 12,000
402 2I2H X201 M 48,000 36,000 12,000
01 2IZF 2 A B (RERTH &) 48,000 36,000 12,000
OF4&sIt A91E=2H A& 48,000
=2 dFHNMIALE XA 70,000 0 70,000
402 RI2EA=20l A 70,000 0 70,000
01 It 2 A B (KM ) 70,000 0 70,000
OJN=En AFHMZAIAH X 70,000
FosI D2 AEYH A gAY XA 10,000 0 10,000
< 4,000
Al 6,000
402 QI2EXt20l ™ 10,000 0 10,000
< 4,000
Al 6,000
02 RIZEXt 2 AL EZ (OIS ) 10,000 0 10,000
Og=sJt Ml XA 10,000
< 4,000
Al 6,000
HESIH ZAZHAE JIAEH X2 98,523 91,608 6,915
< 29,557
Al 68,966
402 RI2EXt20| ™ 98,523 91,608 6,915
< 29,557
Al 68,966
02 QI 2 A EZ (OIS ) 98,523 91,608 6,915
OMNESIH ZAME Wa&E JIAEH X3 98,523
< 29,557
Al 68,966
IMNSHAE ST XE 115,500 79,000 36,500
J| 49,500
< 19,800
Al 46,200
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307 glz2tol & 115,500 79,000 36,500
J| 49,500
< 19,800
Al 46,200
02 P HAMHEE 115,500 79,000 36,500
O=ZME M= BX7Y X 115,500
J| 49,500
< 19,800
Al 46,200
MaHEL 22 EZX NJALY 2,450 2,450 0
< 700
Al 1,750
402 DI2HX 20| & 2,450 2,450 0
< 700
Al 1,750
02 DIt 2 AL EZ (01X ) 2,450 2,450 0
OMENEL 2EXEEHX 2,450
< 700
Al 1,750
BESIH HAH Mg Y A& 82,500 82,500 0
307 21201 A 82,500 82,500 0
02 It S AIHEE L 82,500 82,500 0
OZ&=sIt 9l ZAlg 2LHl XA 82,500
=2 =222 N& 210,000 143,200 66,800
S 63,000
Al 147,000
301 et d = 210,000 143,200 66,800
< 63,000
Al 147,000
NIJIEEd=s 210,000 143,200 66,800
ONEEn =222 NI AY 210,000
= 63,000
Al 147,000
sS40 A FHER A 216,000 155,280 60,720
< 64,800
Al 151,200
301 YA 216,000 155,280 60,720
< 64,800
Al 151,200
IARPA S =S = 216,000 155,280 60,720
OF&sIt AFHLX HAAE 216,000
< 64,800
Al 151,200
HE Tl 2 B 180,000 157,000 23,000
< 40,000
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Al 140,000
301 et d =S 180,000 157,000 23,000
< 40,000
Al 140,000
NMIIEEd= 180,000 157,000 23,000
ONSTHEE A 180,000
< 40,000
Al 140,000
=4 22 KA 10,000 17,500 A7,500
201 et 4,000 4,000 0
01 At 22l 4,000 4,000 0
OMoll Z&bsIH Zdl gX X2 4,000
206 M= Hl 6,000 6,000 0
01 M= 4l 6,000 6,000 0
OMdl s&t=ot 208 A K& 6,000
AHATHOHCHEl Xt &I K& 25,000 50,000 A 25,000
402 RI2FX=201 M 25,000 50,000 A 25,000
01 2I2EH 2 A B (KM ) 25,000 50,000 A 25,000
OXATHOH CHEI XEOHEAED| XI& ALY
25,000,000& = 2CH * 50% 25,000
=S AMSHE 110,000 108,000 2,000
< 10,000
Al 100,000
201 £B-2%H| 2,000 0 2,000
01 At 2t 2l 2,000 0 2,000
OedAL HNMEH Ite 2,000
301 et A= 52,100 52,100 0
MIIEEd= 52,100 52,100 0
Odald=22EAMSUHE &= 52,100
307 21201 A 55,900 55,900 0
= 10,000
Al 45,900
04 DIZHHALALSE E X 55,900 55,900 0
OZdoldI A MSUS SH A 55,900
< 10,000
Al 45,900
M =4 X 30,500 25,500 5,000
206 M= Hl 5,000 0 5,000
01 =4l 5,000 0 5,000
OMSA E8E 2= Tt 5,000
307 21201 A 25,500 25,500 0




= - 4 14
M- o9 (B H) - MEAY - B2 gﬁ‘&i HR=2
02 QI AAIE E X 25,500 25,500 0
OMNS A AI2Hl RISALS 25,500
JOHAI B CHAZE = XRALE 105,000 100,000 5,000
201 2Et2A Y| 5,000 0 5,000
01 AP 2t 2] H| 5,000 0 5,000
ORs=sEZ1I M 5,000
307 212t0| ™ 100,000 100,000 0
02 QIZHEAAIE E X 100,000 100,000 0
OZ A ZH HaHE= X 100,000
st SOIME KA 129,720 0 129,720
= 57,180
= 17,154
Al 55,386
307 2iz2to| & 129,720 0 129,720
= 57,180
& 17,154
Al 55,386
02 QIZ2IA AAIE E X 129,720 0 129,720
Ostd S0 E KIS ALY 129,720
= 57,180
o 17,154
Al 55,386
= AL 808 X & 70,000 80,000 A 10,000
402 SI2F X0l & 70,000 80,000 A 10,000
01 It E AL E X (M) 70,000 80,000 A 10,000
O=AF &018 X SAS
400,000 = 350CH = 50% 70,000
MHEZANSE XNH 32,500 32,500 0
402 SI2FXHE0| & 32,500 32,500 0
01 BIZtXIEANYE X (KM ) 32,500 32,500 0
OMNEBEAELE XSAS
65,000 = 1,000CH * 50% 32,500
SAIE A AlAE XS 30,000 30,000 0
402 SI2FXHE0| & 30,000 30,000 0
01 CIZEXIEANSEXZ (MMM E) 30,000 30,000 0
OSANE ga AlAE X RAS
2,000,000& = 30CH * 50% 30,000
84 X XA 7,500 7,500 0
402 BI2H X201 M 7,500 7,500 0
01 It EANSEXR (MM A) 7,500 7,500 0
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OS2 S+ 2% NN
1,500,000& = 10CH = 50% 7,500
FAAIE BHNA 24,500 10,500 14,000
== 10,500
Al 14,000
402 BI2H X 20| M 24,500 10,500 14,000
o= 10,500
Al 14,000
02 QIZEXIEAISE X (0| XM THL) 24,500 10,500 14,000
O=AAAE SFHEAS (OO Z2) 24,500
= 10,500
Al 14,000
SAHA=I AZHIED] KNEAY 9,000 0 9,000
402 SI2FXHE0| & 9,000 0 9,000
01 BIZtXIEANYE X (KM ) 9,000 0 9,000
O&EGAsI AFZHHE D] RS AS 9,000
St =St Mts & 13,720 19,600 A5,880
& 4,116
Al 9,604
307 QI2t0| ™ 13,720 19,600 A5,880
& 4,116
Al 9,604
02 A2t AAMAIE E =X 13,720 19,600 N5,880
O8te STt JEHE XA
14,0008 * 1,4003] * 70% 13,720
o= 4,116
Al 9,604
B 2FE 04 NAAY 96,000 0 96,000
< 28,800
Al 67,200
307 QI2t0| ™ 96,000 0 96,000
= 28,800
Al 67,200
02 QI2tAAMAIE E =X 96,000 0 96,000
Oste £=FHegt 0lA XA 96,000
= 28,800
Al 67,200
St WsHAMHB A XRAS 13,500 0 13,500
= 5,400
Al 8,100
402 BI2H X 20| M 13,500 0 13,500
o= 5,400
Al 8,100
02 CIZEXIEAISE X (0| XM THL) 13,500 0 13,500
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Ofle ds8%o@0 NAAY
1,000,000&  27CH * 50% 13,500
= 5,400
Al 8,100
st HA2dst=E AZEIMM K& A 18,800 0 18,800
< 7,520
Al 11,280
307 gl2tol & 18,800 0 18,800
< 7,520
Al 11,280
02 IZtA M AIHE L 18,800 0 18,800
Oste HALSH XA
40,0003 * 9401 = 50% 18,800
< 7,520
Al 11,280
NEE segy =4 70,000 70,000 0
< 15,000
Al 55,000
307 21201 A 70,000 70,000 0
< 15,000
Al 55,000
02 It S AIHE L 70,000 70,000 0
Ot sSEAY 8,000& = 7,500 60,000
< 12,000
Al 48,000
OstIMSAL 10,000,000 * 1JH 2 10,000
< 3,000
Al 7,000
gt 332 K& 72,000 72,000 0
307 21201 A 72,000 72,000 0
02 It S AHE L 72,000 72,000 0
OsteE=EFE X3 AY
40,000 * 4,500 * 40% 72,000
st X AAY 18,000 18,000 0
307 21201 A 18,000 18,000 0
02 HAFAANFEX 18,000 18,000 0
O8t2 ZXH(DNA) 2 ALY
30,000& = 1,200% * 50% 18,000
SOtR Matd SHAFALY 17,540 17,539 1
< 5,846
Al 11,694
307 glz2+ol & 17,540 17,539 1
< 5,846
Al 11,694
02 HAFHAANFEE 17,540 17,539 1
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB0XMatd stah At 17,540
< 5,846
Al 11,694
SOHXI 4 ARHA ALY 55,000 55,000 0
301 et a = 55,000 55,000 0
(RIS =S = 55,000 55,000 0
OSO0LXI &8 &HOHE ALY 10,000& * 5,5005 55,000
Rarsd HEAY 17,360 17,720 A 360
= 3,220
Al 14,140
307 21201 A 17,360 17,720 A 360
= 3,220
Al 14,140
02 It S AIHE L 17,360 17,720 A 360
ORALSE HEAY 17,360
< 3,220
Al 14,140
S 2 XNEAEY 30,000 24,000 6,000
< 12,000
Al 18,000
307 12+l & 30,000 24,000 6,000
< 12,000
Al 18,000
02 It M AMHEE 30,000 24,000 6,000
OUSeT XA
2,500,000& * 2 = 12& = 50% 30,000
= 12,000
Al 18,000
AsAI2 20171 XI&AS 30,000 30,000 0
402 2I2H X201 M 30,000 30,000 0
01 2IZF 2 A B (RERTH ) 30,000 30,000 0
OXsAI23017] K& At
15,000,000& * 4CH * 50% 30,000
NEE A5 44 XA 47,500 58,000 A 10,500
307 21201 A 47,500 58,000 210,500
02 It S AIHE L 47,500 58,000 A 10,500
OLNSE 3R MAXA 47,500
- EHN 20,000& = 1,50000 * 50% 15,000
~HBY BA RS HMH
70,0002 = 30020 = 50% 10,500
—&ed ARAE HMARX
40,000 = 60020 * 50% 12,000
—OtEI HA AEYA ol SSAH
10,000& = 2,000kg * 50% 10,000
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SN SEAD
My B4 AMY L3
S Jts A1 24 2 e (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HRNME HSANE XX A 75,000 0 75,000
< 22,500
Al 52,500
402 2I2H X201 M 75,000 0 75,000
< 22,500
Al 52,500
02 2IZE 2 A EZ(OI XM TH ) 75,000 0 75,000
OXRHMEx F3tAE XX
30,000,000& = 504 * 50% 75,000
< 22,500
Al 52,500
R M Bz XE 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 IS AHEL 30,000 30,000 0
Ods M ZAZ K& 10,000& * 3,000& 30,000
ASAE AR AL 30,000 30,000 0
= 12,000
Al 18,000
402 RI2FX=01 M 30,000 30,000 0
< 12,000
Al 18,000
02 QI 2 AL EZ (01 XS ) 30,000 30,000 0
OLsSLY RRIMLAY
75,000& = 80000 = 50% 30,000
< 12,000
Al 18,000
YSEHE SHAMY 7,200 0 7,200
< 2,400
Al 4,800
307 gl2tol & 7,200 0 7,200
< 2,400
Al 4,800
02 It HAHEE 7,200 0 7,200
Og=EUs SAANY
80,000& = 15024 = 60% 7,200
< 2,400
Al 4,800
ASHH SHAMY 40,000 48,000 A 8,000
307 gl2tol & 40,000 48,000 A 8,000
02 It HAHE L 40,000 48,000 A 8,000
OLSLtd LAY 40,000
s 8,000& = 10,000kg * 50% 40,000
ANHE0l &y SHAY 14,650 21,975 AT,325
402 QI2H X201 M 14,650 21,975 AT,325
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SA sEA4D
=4

a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 SI2ZEXIEANSEXR (M) 14,650 21,975 NT,325
OXgol &g g4 14,650
-SESE2EH)| 4,200,000 * 2CH = 50% 4,200
— E|H| AHEZ D] 10,450,000 * 2CH = 50% 10,450
SN H A5 3,500 3,000 500
202 o4 | 3,500 3,000 500
01 2Ll 3,500 3,000 500
OFsMY &I, SsEHM =& 0H| 3,500
=M% 34,800 26,350 8,450
201 et 23,300 12,450 10,850
01 AP 22| H| 23,300 12,450 10,850
OJIEtx=2H] 23,300
—=psI s W oA
3,0008 * 2008 * 33| 1,800
—FAAIH EEZE QY 1,500 = 1,8008 2,700
~EMAY BQ B0 A
55,000& * 300H 1,650
—ENEHE AREE BALY
70,000 * 5% x 33 1,050
~EME0 I BALY
200,000& * 3Y * 23| 1,200
SEMNY Y =X ZAHI(2 MSHE S
) 8,000& ~ 5hYH * 0L 2,400
- 20|18 &4 dXE 2,500
- ME0HEA EE 10,000
202 04| 4,000 3,500 500
01 2L Hl 4,000 3,500 500
OFMNALR T 0fy| 4,000
301 et A= 7,500 3,500 4,000
09 HAIAHI BEAZ 7,500 3,500 4,000
OEAtASE AXX #IX O 50,000& = 70H 3,500
OF A0l A X & 2,000,000& = 23| 4 000
SAE S0FE &S XRALE 80,000 0 80,000
= 40,000
= 12,000
Al 28,000
307 QI2t0| & 80,000 0 80,000
= 40,000
& 12,000
Al 28,000
02 QI2tAAMAIE E =X 80,000 0 80,000
OsadE &S0t 29 XS AY 80,000
= 40,000
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EAN: sS4t
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 12,000
Al 28,000
FEMNE RS2 695, 136 915,864 N220,728
J| 188,638
= 58,351
Al 448 147
FENME E2FX XS ALY 12,500 25,000 A 12,500
= 5,000
Al 7,500
307 2Iz2t0| & 12,500 25,000 A 12,500
= 5,000
Al 7,500
02 QI AAIE E X 12,500 25,000 A 12,500
OFNME ==X IAY 12,500
& 5,000
Al 7,500
E=AS HACCP 2444 X 5,600 15,400 A 9,800
J| 3,200
& 720
Al 1,680
307 giztol & 5,600 15,400 A 9,800
J| 3,200
& 720
Al 1,680
02 QIZ2IA AAIE E X 5,600 15,400 A9,800
O=At2 HACCP HEE XI& 5,600
J| 3,200
== 720
Al 1,680
SdNe sAXNH 250,000 490,000 A 240,000
J| 150,000
o= 30,000
Al 70,000
307 212t0| ™ 250,000 490,000 A 240,000
J| 150,000
= 30,000
Al 70,000
02 IZHEAAIRE E X 250,000 490,000 A 240,000
Oste sAXA 250,000
J| 150,000
& 30,000
Al 70,000
BdE sME ZEAM XS 60,000 40,000 20,000
= 12,000
Al 48,000
307 2iz2to| & 60,000 40,000 20,000
= 12,000
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SN SEMD
My B4 AMY L3
o9 sM2 REB2 (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFNE X S ML= W M
10,0008 = 3008 3,000
02 2224 4| 2,060 2,060 0
OJlgssa & BEEFAS HII 1,400
—QOtetAl Al 2 100,000 * 2% 200
- & 2Ct&H X2 400,000 = 204 800
-HOIRIE ¢ 100,000& = 2% * 23| 400
OEd=At= XMl 330,000 = 23| 660
202 04| 5,700 5,700 0
01 2L Hl 5,700 5,700 0
OFd, 2 Zata o5 L =013 A o4l 4,200
OFMNSIIE M2ZHAl OH] 1,500
A s JE P == A1 166,600 324,490 A 157,890
Xl 90,000
= 24,000
Al 52,600
SeAE e L =ZAES ASAEY 36,000 0 36,000
== 18,000
Al 18,000
307 2Iz2to| A 36,000 0 36,000
== 18,000
Al 18,000
02 QIZHAAAIE E X 36,000 0 36,000
OAENEY & £=4ES XNIAL 36,000
=} 18,000
Al 18,000
dY FTEHME =M= 243 ASEAY 12,000 0 12,000
= 6,000
Al 6,000
307 gizto| A 12,000 0 12,000
& 6,000
Al 6,000
02 QI2tAAMAIE E =X 12,000 0 12,000
OZY AT 42 8435 NI AY 12,000
= 6,000
Al 6,000
A = = 1| el =T = 112,500 112,500 0]
Xl 90,000
Al 22,500
206 M = dl 112,500 112,500 0
Xl 90,000
Al 22,500
01 =4l 112,500 112,500 0
OBER 1Y gFZFAY 112,500
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SN SEMD
My B4 AMY L3
Chol: Satel AW s (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 90,000
Al 22,500
=&K& 6,100 29,990 A 23,890
201 £B-2d| 2,300 26,190 A23,890
01 At 22l 2,300 26,190 A 23,890
O=x4tE ALK HEA S EE2 WNE
3,000& = 4004 1,200
O==4HAI 2 & =00 R = 55,000& * 200H 1,100
202 o4dl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
O=4&tAY =& A b 800
O=xttE JALXNEA S5 Wbl 1,000
301 et 8= 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
OoXszelog g (E8=2)Ua ot 2,000
HFELA WA 25 3,327,192 2,938,824 388,368
= 1,351,941
J| 31,906
< 398,355
Al 1,544,990
THS LA MESE FUXNAOISLAAERLY) 931,408 1,150,440 A 219,032
= 447,031
< 129,090
Al 355,287
206 M= Hl 602,408 745,440 A 143,032
= 240,731
< 92,280
Al 269,397
01 MHZ 8l 602,408 745,440 A 143,032
O Ol & == At 94,091
= 18,442
= 14,469
Al 61,180
OSHAI Ol == At 233,135
= 85,580
< 37,208
Al 110,347
O Ol &==A 99,760
= 42,680
S 17,124
Al 39,956
O Ol &= At 1,768
= 819
< 246
Al 703
O JId4= 2H 26,668
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SN SEAD
My B4 AMY L3
ool BIYS HH PE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 13,334
< 4,000
Al 9,334
OFHY HLZFE (M=) 99,000
= 67,200
< 8,640
Al 23,160
OFHY HeEEsS EXHM XN 43,560
= 8,250
< 10,593
Al 24,717
Oxg=x=+2 4,426
= 4,426
307 21201 A 329,000 405,000 AT76,000
= 206,300
< 36,810
Al 85,890
02 QB AAFEX 329,000 405,000 276,000
OHYXIMIH0IAA BHAIX & ALS 120,000
= 60,000
< 18,000
Al 42,000
OFHS HEZs(dYs) 209,000
= 146,300
= 18,810
Al 43,890
IIEEXHES BE4SXE 625,000 600,000 25,000
= 500,000
< 62,500
Al 62,500
302 OI=LTHOH E & = 625,000 600,000 25,000
= 500,000
< 62,500
Al 62,500
02 IAQITHOH A =S R ESENS 625,000 600,000 25,000
OJltsdxzs 24=2X& 625,000
= 500,000
< 62,500
Al 62,500
THS LA HEAE FUXNA(AER et 23 120,900 93,000 27,900
8 HE EF)(=2LEX)
= 27,900
< 27,900
Al 65,100
301 et a = 120,900 93,000 27,900
= 27,900
= 27,900
Al 65,100
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<

n0

Kio

Hl w

27,900

A2,000

A2,000
2,000

A~ 10,128

A 10,128

A~ 10,128

A5, 752

A5,752

ANb5,752

66

66
66

H3r
Wikd
RIS

93,000

15,000

15,000
15,000

40,500

40,500

40,500

39,194

39,194

39,194

13,644

13,644
13,644

Off &t 24

120,900
120,900
27,900
27,900
65,100
13,000

fir

H

Al

13,000

13,000
13,000
30,372
15,186

Il

H

4,556
10,630
30,372
15,186

Al
Il

H

4,556
10,630
30,372
30,372
15,186

Al

Jl

H

4,556
10,630
33,442
16,720

Al
y

H

5,016
11,706
33,442
16,720

Al
J|

H

5,016
11,706
33,442
33,442
16,720

Al

Il

H

5,016
11,706

13,710

Al

13,710
13,710
13,710

7,200
2,640

600
1,770
1,500

b

11 JIEt

ol

oF)

gr W
8=

i
<0
H

]
oll

301

NIEtE2d=

+ 30

307 21201 A

Kd
H
ol
<0
R0
~J

oJ

30
OH

n
ol
U
4
=
oll
i
Kl

307 glztol &

Ki
iy
31

<0
R0
~J

ol

30
U

ol
<+

ar
0
KO

no
<0
H

ol
oll

b

11 JIEt

ulo

0o
<+

[9)
<

ar
0
Kio

M0

128
128
128

2 x
2 x
2 x

600,000
220,000
50,000

4« 20A12H + 128

=
=

7,373
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2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
THS LA HEAE FUXNA(FHE HNLEES Al 60,100 61,000 A900
=H ) (=0ExX)
= 30,050
< 9,015
Al 21,035
301 L2 AF 60,100 61,000 A 900
= 30,050
< 9,015
Al 21,035
11IIEtEA S 60,100 61,000 A 900
OFHY WS ANzt (A2 2H)
5,000& * 12,0205 60,100
= 30,050
= 9,015
Al 21,035
THE LA HEAE LN (MG HLEE S 134,900 89,000 45,900
Azl (RFAITH&)
301 et a3 134,900 89,000 45,900
1MIIEESS 134,900 89,000 45,900
OFME A5 HLHES AMsH(A72 EII)
5,000& = 15,3805 76,900
O Z2AY WIS Al=tl
2,600 = 5,000& 13,000
ONFHEFA Al=Hl 9,000 = 5,000& 45,000
THY, ZRUASIAT EE LA HHEFIALS 44,800 80,000 A 35,200
= 13,440
Al 31,360
206 M= Hl 44,800 80,000 A 35,200
< 13,440
Al 31,360
01 = Hl 44,800 80,000 A 35,200
OaA=xE P4 44,800
< 13,440
Al 31,360
SsEEUF VEASI| EXAY 20,000 20,000 0
< 6,000
Al 14,000
402 RI2HXt20l ™ 20,000 20,000 0
< 6,000
Al 14,000
02 2IZt 2 AL EZ (OIS ) 20,000 20,000 0
O2=Jl X XI&A(100h) 20,000
< 6,000
Al 14,000
s==A g4 150,000 90,000 60,000
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SN SEMD
My B4 AMY L3
Sl HIW HH RS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
207 & O] 30,000 0 30,000
01 284 30,000 0 30,000
OSLEESEZZANE 2HE BEH E9 30,000
307 glz2tol & 120,000 90,000 30,000
05 RIZt2IE = 120,000 90,000 30,000
ORJISE A2l
100,000& = 75% = 12& 90,000
OZ02d0l S4st A Y 150,000& * 2005 30,000
FHYE LA HEYE LA (HXNL228 HE X 12,000 60,000 A 48,000
T XH)
= 6,000
< 1,800
Al 4,200
307 glz2+ol & 12,000 60,000 A 48,000
= 6,000
< 1,800
Al 4,200
02 LIt HAMHEE 12,000 60,000 A 48,000
OHYXAE2d Z2& XN XNAAZ 12,000
= 6,000
< 1,800
Al 4,200
THS LA HEAFT PUXNF(OLE HSK ALZ 2 62,100 52,100 10,000
el)
= 24,000
< 10,800
Al 27,300
201 Let24E] 60,000 25,000 35,000
= 24,000
< 10,800
Al 25,200
01 At 22l 60,000 25,000 35,000
OMSX AtZ=2e] 5,000,000 * 1200 A& 60,000
= 24,000
< 10,800
Al 25,200
202 44l 2,100 2,100 0
01 SLHOYI 2,100 2,100 0
OMSX At=2el 83d =20l 2,100
HEX AtZ 22l (XHA) 100,000 0 100,000
201 ¢er24| 100,000 0 100,000
01 At 22l 100,000 0 100,000
Oii=Xl aHHd Hel 100,000
BreisS =SS AY 21,000 21,000 0
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2N
X ZH -
L= B

el

5 - 4
A - HE B9 (3A) - HRAY - BHYS e
201 £t2d 3,000 3,000
01 A2 2 3,000 3,000
O=S=SSEMME 222 HMAS 3,000
301 et 4 18,000 18,000
11 J1EtE 18,000 18,000
osgs sz
* 9005 + 3,000& =* 3,0005 18,000
LAY 30,000 30,000
206 M= Hl 30,000 30,000
01 =8l 30,000 30,000
o= 30,000
FQ HEFAY 2 229 =29 92,400 92,400
< 27,720
Al 64,680
301 et A=z 92,400 92,400
< 27,720
Al 64,680
11 JIE= 92,400 92,400
O&s= 92,400
< 27,720
Al 64,680
7HS AL S PN (SR AAMEI (G 47,520 51,084
PS) Sdlg X&)
= 23,760
< 7,128
Al 16,632
201 Ler2d 47,520 51,084
= 23,760
< 7,128
Al 16,632
022524 47,520 51,084
O=M% Az X
4,950 = 800CH = 12& 47,520
= 23,760
< 7,128
Al 16,632
S&sot 284 HII2 MelAtg 18,100 18,100
< 5,430
Al 12,670
201 LBt 18,100 18,100
< 5,430
Al 12,670
01 At 2t 18,100 18,100
O=ut HJIZ M2HEXE 18,100
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EAN: sS4t
a4 B L
Sl HIW HH RS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—dgg g4= deg Mol 0s
350,0008 » 405 14,000
OJIse9Hd S 22| 1,500,000 = 2CH 3,000
02 2224 360 360 0]
OGPS EAZ (SN2 =2 22
5,000& * 6CH ~ 12€& 360
202 044 8,400 8,400 0
01 2L Hl 8,400 8,400 0
OJbEZe =FO0H 20,0008 * 452 * 4% 3,600
OAl & PHS SEwe o S242S 8y
E=PSRe:N]| 20,000 * 60g = 2H 2,400
ORINsSE L S2SEM RAS S50
20,000& * 60g = 2H4 2,400
206 M = dl 74,350 111,650 A 37,300
01 =4l 74,350 111,650 A 37,300
B4 gAHM =& MHESH| 14,600
OJIsdgY Olsts 442 W= 2 6,000
O2Z2¢UA(P2HY HXNEH XIA S) M2
2 40,000
OIseY g ASs2dE 2 13,750
ENBEYAL 2 N 586,400 0 586, 400
= 293,200
& 87,960
Al 205,240
402 IV X201 M 586,400 0 586,400
= 293,200
& 87,960
Al 205,240
02 CIZEXIE AL EX (0| XM THL) 586,400 0 586,400
Osstzgetd A X N (1HA) 586,400
= 293,200
=} 87,960
Al 205,240
HEH2AAH| (sS4 476,293 141,613 334,680
olad 2 A Y| 342,647 16,378 326,269
ol =AY 342,647 16,378 326,269
101 Q121 H] 342,647 16,378 326,269
03 RIAHL*ZZXE S 342,647 16,378 326,269
O AL EAzeld oAy 66,327
-J=2 1,520,000& = 12€l * 29 36,480
— o e 1,520,000 + 1/3 » 128 * 2H 12,160
- S22 XH| 130,0008 = 12&€l ~ 29 3,120
- HHZAH| 130,000& = 128 * 2H 3,120
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M SEMD
M HH2ALH (sF4)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- X2 A 87,5273 » 7 « 23 1,226
- g &S0t
1,520,000 » 60% » 23] *» 2H 3,648
—-4EER 59,754,000& = 11% 6,573
OFA 22&d 1=l 500
-HAs(s=, ot=) 250,000& = 29H 500
O33R DEMMEE S 183,640,470 » 8% 14,692
OsJ1H UMY 222 2 187,515
-Jl2= 1,876,000 » 128 * 4% 90,048
-2 ==2  1,876,000& * 1/3 = 128 * 49 30,016
—us2=x4| 130,000& = 128 » 49 6,240
-Zugay 130,008 * 128 * 4% 6,240
—NZeRRLY
19,8102 = 20AI2F = 128 » 49 19,018
— X2 4| 105,690 = 7 = 49 2,960
-G E IO
1,876,000& » 60% » 23] * 4H 9,005
-8 EFHOHH 100,000& = 128 » 59H 6,000
—-4HEER 163,527,000& * 11% 17,988
OSJIALUAME 222 L= 2,550
-HHs(s=, ot=) 250,000& = 5H 1,250
—-gs= 200,000& = 59H 1,000
—-QotM3sH, BT 60,000& = 5H 300
OZ222& =dl  8,0008 * 5&l » 128 * 53H 2,400
OFHMS & Q-BSHSHS YHES YHI
g sy 67,663
A== 1,520,000& = 108 = 29 30,400
-gZ=9  1,520,0002 « 10& = 29 = 1/3 10,134
- 23 1,520,000& = 7% » 2% 213
-DEREH Y FAUZAY)
260,000& = 108 » 29H 5,200
—NZe 2L
16,630 = 30AI2t = 10& » 29 9,978
— HOtE 4| 87,5273 = 74 » 2H 1,226
- g Z S0t
1,520,000& » 60% » 18] * 2H 1,824
-dEEF NI 100,000& = 108 » 29H 2,000
—-4HEER 60,799,000& * 11% 6,688
Oogdas 22 1=l 1,000
-HUs(s=, ot=8) 250,000& = 29H 500
—-gst= 200,000& = 29H 400
- &5 50,000& = 29H 100
Jl=3l 133,646 125,235 8,411
Jl2&l 133,646 125,235 8,411
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